BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

HARDSCAPE AND LANDSCAPE TO SERVE FULSHEAR JUNCTION SECTION 1
FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 174
CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS
AUGUST 26, 2025
LJA ENGINEERING, INC.
A.HOLLIDAY

BIDDER NAME	BASE BID	BASE BID PLUS ALTERNATE BID NO. 1 - SIDEWALK ITEMS	BASE BID PLUS ALTERNATE BID NO. 2 - CLEARING ITEMS	BASE BID PLUS ALTERNATE BID NO. 3 - PLANTING ITEMS	BASE BID PLUS ALTERNATE BID NO. 4 - POND FOUNTAIN ITEMS
1) STRICKSCAPES INC	\$1,302,146.06	\$1,434,001.46	\$1,303,138.22	\$1,311,142.30	\$1,424,705.76
2) D.L. MEACHAM, L.P.	\$1,433,485.65	\$1,548,563.75	\$1,446,139.20	\$1,453,522.73	\$1,539,756.89
3) WCI SERVICES INC	\$1,442,245.31	\$1,560,867.91	\$1,447,845.31	\$1,465,553.75	\$1,556,947.67

AUGUST 26, 2025 2457-25001 (9.2)

CONTRACT DAYS 105/135



I, Charlie Patout, PLA, hereby certify these bid tabulations to be true and correct.

BID TABULATION FOR:  BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO.	F C A L A	HARDSCAPE AND LANDSCAPE TO SERVE FULSHEAR JUNCTION SECTION 1 FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 174 CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS AUGUST 26, 2025 LIA ENGINEERING, INC. A.HOLLIDAY AUGUST 26, 2025 2457-25001 (9.2)								
			1) STRICKSC	APES INC	2) D.L. MEACHAM, L.P.		3) WCI SERVICES INC			
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL		
BASE BID MISCELLANEOUS ITEMS  1. TEMPORARY FACILITIES, INCLUDING UTILITIES, BARRIERS, FENCING, VEHICULAR ACCESS AND PARKING, AND REMOVAL OF WASTE, INSTALLATION AND REMOVAL, COMPLETE IN PLACE	LS	1	\$18,862.00	\$18,862.00	\$38,632.26	\$38,632.26	\$90,275.36	\$90,275.36		
2. TREE PROTECTION FENCING, INSTALLATION, MAINTENANCE AND REMOVAL, PER PLANS, COMPLETE IN PLACE	LF	1105	\$3.00	\$3,315.00	\$7.57	\$8,364.85	\$3.29	\$3,635.45		
SUBTOTAL BASE BID MISCELLANEOUS ITEMS				\$22,177.00	_	\$46,997.11		\$93,910.81		
BASE BID GRADING AND DRAINAGE ITEMS  1. ROUGH GRADING AND SHAPING, INCLUDING BERMS, AT PARK 2 AT LIGH RAIL DRIVE AND HERITAGE RAILWAY COURT, INCLUDING HAUL OFF OF EXCESS SPOILS, COMPLETE IN PLACE	T LS	1	\$5,382.00	\$5,382.00	\$4,656.70	\$4,656.70	\$75,592.63	\$75,592.63		
<ol> <li>ROUGH GRADING AT RESERVES ALONG UNION CHAPPEL ROAD, FIRST STREET, FIFTH STREET FOR SIDEWALK INSTALLATION, INCLUDING HAUL C OF EXCESS SPOILS, COMPLETE IN PLACE</li> </ol>	LS	1	\$5,750.00	\$5,750.00	\$8,848.62	\$8,848.62	\$14,000.00	\$14,000.00		
<ol> <li>ROUGH GRADING AT DETENTION BASIN D MAINTENANCE BERM FOR SIDEWALK INSTALLATION, INCLUDING HAUL OFF OF EXCESS SPOILS. COMPLETE IN PLACE</li> </ol>	LS	1	\$5,750.00	\$5,750.00	\$3,371.47	\$3,371.47	\$5,600.00	\$5,600.00		
4. FINE GRADING INCLUDING SHAPING OF BERMS, AT PARK 2 AT LIGHT RAIL DRIVE AND HERITAGE RAILWAY COURT, COMPLETE IN PLACE	L LS	1	\$2,400.00	\$2,400.00	\$1,089.02	\$1,089.02	\$2,800.00	\$2,800.00		
<ol><li>FINE GRADING, AT PARK 1 AT FIRST STREET AND LIGHT RAIL DRIVE, COMPLETE IN PLACE</li></ol>	LS	1	\$3,600.00	\$3,600.00	\$1,089.02	\$1,089.02	\$3,920.00	\$3,920.00		
6. FINE GRADING AT RESERVES ALONG UNION CHAPPEL ROAD, FIRST STREE FIFTH STREET FOR SIDEWALK INSTALLATION, COMPLETE IN PLACE	T, LS	1	\$3,800.00	\$3,800.00	\$4,424.31	\$4,424.31	\$6,160.00	\$6,160.00		
7. FINE GRADING AT DETENTION BASIN D MAINTENANCE BERM FOR SIDEWALK INSTALLATION, COMPLETE IN PLACE	LS	1	\$1,700.00	\$1,700.00	\$1,685.73	\$1,685.73	\$4,704.00	\$4,704.00		
8. 9" SQUARE CATCH BASIN WITH ATRIUM GRATE, FILTER AND OUTLET, COMPLETE IN PLACE	EA	7	\$520.80	\$3,645.60	\$594.83	\$4,163.81	\$263.38	\$1,843.66		
9. 4" PERFORATED DRAINPIPE AND FILTER FABRIC AT PLAYGROUND FALL SURFACING, COMPLETE IN PLACE	LF	251	\$25.25	\$6,337.75	\$42.18	\$10,587.18	\$13.57	\$3,406.07		
10. 4" SMOOTH WALL PVC DRAINPIPE CONNECTING ALL CATCH BASINS TO STORM SEWER, COMPLETE IN PLACE	LF	325	\$24.24	\$7,878.00	\$48.67	\$15,817.75	\$15.68	\$5,096.00		
11. BREAK INTO EXISTING STORM INLET AND CONNECT PROPOSED DRAINPIF TO EXISTING INLET, INCLUDING SEALING/GROUTING AND ALL OTHER APPURTENANCES, COMPLETE IN PLACE	E EA	1	\$1,782.50	\$1,782.50	\$2,703.75	\$2,703.75	\$4,480.00	\$4,480.00		
SUBTOTAL BASE BID GRADING AND DRAINAGE ITEMS				\$48,025.85		\$58,437.36		\$127,602.36		
BASE BID HARDSCAPE ITEMS  1. 4 ½" THICK, 3000 P.S.I. CONCRETE PAVING WITH FINISH SHOWN ON PLAI INCLUDING FORMS, EXCAVATION, BACKFILL, REINFORCEMENT AND ALL APPURTENANCES, COMPLETE IN PLACE	NS, SF	53515	\$5.75	\$307,711.25	\$4.84	\$259,012.60	\$5.02	\$268,645.30		
2. HAUNCHED EDGE CONCRETE PAVING AT PLAYGROUND FALL SURFACING 3000 P.S.I. WITH FINISH SHOWN ON PLANS, INCLUDING FORMS, EXCAVATION, BACKFILL, REINFORCEMENT AND ALL APPURTENANCES	, LF	88	\$19.32	\$1,700.16	\$21.63	\$1,903.44	\$42.58	\$3,747.04		

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

HARDSCAPE AND LANDSCAPE TO SERVE FULSHEAR JUNCTION SECTION 1
FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 174
CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS
AUGUST 26, 2025
LIA ENGINEERING, INC.
A.HOLLIDAY
AUGUST 26, 2025

			1) STRIC	1) STRICKSCAPES INC		2) D.L. MEACHAM, L.P.		EVICES INC
NO. ITEM DESCRIPTION	UI	NIT QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
3. 12" (IN) WIDTH BY 18" (IN) DEPTH CONCRETE BAND, 30 FINISH SHOWN ON PLANS, INCLUDING FORMS, EXCAVA REINFORCEMENT AND ALL APPURTENANCES, COMPLET	TION, BACKFILL,	.F 1	5 \$48.99	\$8,573.25	\$46.26	\$8,095.50	\$32.60	\$5,705.00
<ol> <li>6" (IN) WIDTH BY 6" (IN) DEPTH CONCRETE BAND, 3000 SHOWN ON PLANS, INCLUDING FORMS, EXCAVATION, E REINFORCEMENT AND ALL APPURTENANCES, COMPLET</li> </ol>	BACKFILL,	.F 5:	6 \$43.93	\$23,546.48	\$15.42	\$8,265.12	\$24.47	\$13,115.92
<ol> <li>12" (IN) MINIMUM DEPTH ENGINEERED WOOD FIBER N PLAYGROUND FALL SURFACING, COMPLETE IN PLACE</li> </ol>	1ULCH S	SF 260	0 \$2.44	\$6,344.00	\$4.85	\$12,610.00	\$2.68	\$6,968.00
6. 4" (IN) DEPTH DECOMPOSED GRANITE WITH BINDER, IN FABRIC, COMPLETE IN PLACE	ICLUDING FILTER C	CY :	4 \$202.50	\$4,860.00	\$2,811.90	\$67,485.60	\$133.01	\$3,192.24
7. WING RAMP WITH HAUNCHED EDGE, 3000 P.S.I, WITH PLANS, AT PLAYGROUND FALL SURFACING, COMPLETE I		EΑ	2 \$2,357.50	\$4,715.00	\$2,811.90	\$5,623.80	\$3,080.00	\$6,160.00
<ol> <li>CONCRETE TWO-WAY CURB RAMP AT UNION CHAPPEL DEMOLITION AND DISPOSAL OF EXISTING CURB, DETEC SURFACE, COMPLETE IN PLACE</li> </ol>	,	EΑ	1 \$4,899.00	\$4,899.00	\$5,407.50	\$5,407.50	\$3,920.00	\$3,920.00
9. 4'-0" HEIGHT SPLIT RAIL WOOD FENCE WITH FINISH SPE INCLUDING SHOP DRAWINGS, COMPLETE IN PLACE	CIFIED ON PLANS, L	.F 2:	5 \$27.90	\$6,556.50	\$64.46	\$15,148.10	\$24.64	\$5,790.40
10. 6'-0" HEIGHT SINGLE WYTHE BRICK WALL, INCLUDING OF FOUNDATION, PER STRUCTURAL PLANS, INSTALL COMP		_F 13:	7 \$128.15	\$168,773.55	\$192.51	\$253,535.67	\$148.16	\$195,126.72
11. 2'-6" BY 2'-6" BY 7'-0" UPGRADED COLUMN, INCLUDING AND CAST STONE MASONRY, CONCRETE FOUNDATION MATERIALS, PER STRUCTURAL PLANS, INSTALL COMPLE	AND ALL OTHER	EA	2 \$3,622.50	\$7,245.00	\$5,569.73	\$11,139.46	\$5,214.45	\$10,428.90
12. BENCH TYPE 1, COMPLETE IN PLACE	E	EA .	2 \$4,692.73	\$9,385.46	\$4,389.27	\$8,778.54	\$4,440.80	\$8,881.60
13. BENCH TYPE 2, INCLUDING CONCRETE ANCHORS AND F SURFACE MOUNTING, COMPLETE IN PLACE	OOTINGS FOR E	EA .	2 \$4,754.88	\$9,509.76	\$4,442.37	\$8,884.74	\$4,396.00	\$8,792.00
14. PICNIC TABLE TYPE 1, COMPLETE IN PLACE	É	Ā	\$6,091.23	\$6,091.23	\$5,050.61	\$5,050.61	\$5,034.40	\$5,034.40
15. PICNIC TABLE TYPE 2, COMPLETE IN PLACE	E	EA	1 \$5,384.05	\$5,384.05	\$5,602.17	\$5,602.17	\$5,516.00	\$5,516.00
16. PICNIC TABLE TYPE 3, INCLUDING CONCRETE ANCHORS SURFACE MOUNTING, COMPLETE IN PLACE	AND FOOTINGS FOR E	EA	2 \$3,993.49	\$7,986.98	\$3,862.20	\$7,724.40	\$4,004.00	\$8,008.00
17. PICNIC TABLE TYPE 4, INCLUDING CONCRETE ANCHORS SURFACE MOUNTING, COMPLETE IN PLACE	AND FOOTINGS FOR	Ā	1 \$3,993.48	\$3,993.48	\$3,862.20	\$3,862.20	\$4,004.00	\$4,004.00
18. TRASH RECEPTACLE, COMPLETE IN PLACE	E	EA.	3 \$1,942.36	\$5,827.08	\$2,374.25	\$7,122.75	\$2,133.60	\$6,400.80
19. PLAY STRUCTURE #1, INCLUDING STRUCTURAL FOOTING COMPLETE IN PLACE	GS AND FINISHES,	_S	1 \$84,431.26	\$84,431.26	\$80,628.80	\$80,628.80	\$72,720.91	\$72,720.91
20. PLAY STRUCTURE #2, INCLUDING STRUCTURAL FOOTING COMPLETE IN PLACE	GS AND FINISHES,	_S	1 \$6,692.15	\$6,692.15	\$6,148.33	\$6,148.33	\$16,025.39	\$16,025.39
SUBTOTAL BASE BID HARDSCAPE ITEMS				\$684,225.64	_	\$782,029.33	_	\$658,182.62

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

HARDSCAPE AND LANDSCAPE TO SERVE FULSHEAR JUNCTION SECTION 1
FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 174
CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS
AUGUST 26, 2025
LIA ENGINEERING, INC.
A.HOLLIDAY
AUGUST 26, 2025

				1) STRICKSCAPES INC		2) D.L. MEACHAM, L.P.		3) WCI SE	RVICES INC
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
1. 2	IRRIGATION ITEMS 2" (IN) WATER METER AND BACKFLOW, AS SHOWN ON PLANS, INCLUDING SECURITY CAGE, MASTER VALVE, AND ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE AND OPERATIONAL	EA	2	\$8,500.00	\$17,000.00	\$18,115.13	\$36,230.26	\$10,600.00	\$21,200.00
S	4" (IN) WATER METER AND BACKFLOW, AS SHOWN ON PLANS, INCLUDING SECURITY CAGE, MASTER VALVE, AND ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE AND OPERATIONAL	EA	2	\$5,850.00	\$11,700.00	\$11,171.90	\$22,343.80	\$5,300.00	\$10,600.00
9	CONTROLLER TYPE 1, INCLUDING SOLAR UNIT MODEL, RAIN/FREEZE SENSOR, FLOW SENSOR, DECODERS, VALVE, AND ALL OTHER NECESSARY APPURTENANCES PER IRRIGATION PLANS, COMPLETE IN PLACE AND OPERATIONAL	EA	1	\$22,995.00	\$22,995.00	\$16,254.95	\$16,254.95	\$26,500.00	\$26,500.00
9	CONTROLLER TYPE 2 INCLUDING SOLAR UNIT MODEL, RAIN/FREEZE SENSOR, MODULES, FLOW SENSOR, VALVE, AND ALL OTHER NECESSARY APPURTENANCES PER IRRIGATION PLANS, COMPLETE IN PLACE AND OPERATIONAL	EA	2	\$18,900.00	\$37,800.00	\$7,678.65	\$15,357.30	\$26,500.00	\$53,000.00
2 E H (	RRIGATION PACKAGE AS SHOWN ON PLANS INCLUDING DRIP IRRIGATION ZONES, TREE BUBBLER ZONES, SPRAY IRRIGATION ZONES, VALVES, VALVE BOXES, LATERAL PIPING, MAIN LINE PIPING, FITTINGS, DRIP TUBING, SPRAY HEADS, BUBBLERS, WIRING, INDICATORS, RAIN SENSOR, FLOW SENSORS, QUICK COUPLER VALVES, GATE VALVES, WATER TAP FEES, IMPACT FEES, AND ALL NECESSARY APPURTENANCES PER IRRIGATION PLANS, COMPLETE N PLACE AND OPERATIONAL	LS	1	\$290,700.00	\$290,700.00	\$278,520.86	\$278,520.86	\$292,555.12	\$292,555.12
SUBTOTA	L BASE BID IRRIGATION ITEMS				\$380,195.00	-	\$368,707.17	-	\$403,855.12
1. (	LANDSCAPE ITEMS CERCIS CANADENSIS 'THE RISING SUN,' RISING SUN REDBUD, 30 GAL, COMPLETE IN PLACE	EA	19	\$466.09	\$8,855.71	\$405.56	\$7,705.64	\$386.90	\$7,351.10
	MAGNOLIA GRANDIFLORA 'DD BLANCHARD,' SOUTHERN MAGNOLIA, 65 GAL, COMPLETE IN PLACE	EA	4	\$805.35	\$3,221.40	\$838.16	\$3,352.64	\$832.10	\$3,328.40
	MAGNOLIA GRANDIFLORA 'LITTLE GEM,' LITTLE GEM MAGNOLIA, 45 GAL, COMPLETE IN PLACE	ĒA	4	\$592.92	\$2,371.68	\$727.85	\$2,911.40	\$577.70	\$2,310.80
4. 0	QUERCUS VIRGINIANA, SOUTHERN LIVE OAK, 65 GAL, COMPLETE IN PLACE	EA	56	\$731.00	\$40,936.00	\$757.05	\$42,394.80	\$778.04	\$43,570.24
5. (	QUERCUS VIRGINIANA, SOUTHERN LIVE OAK, 200 GAL, COMPLETE IN PLACE	EA	1	\$2,376.67	\$2,376.67	\$1,730.40	\$1,730.40	\$2,962.40	\$2,962.40
6. l	JLMUS PARVIFOLIA, LACEBARK ELM, 65 GAL, COMPLETE IN PLACE	EA	7	\$731.00	\$5,117.00	\$838.16	\$5,867.12	\$779.10	\$5,453.70
7. [	DIETES VEGETA, BUTTERFLY IRIS, 3 GAL, COMPLETE IN PLACE	EA	764	\$19.12	\$14,607.68	\$17.30	\$13,217.20	\$23.32	\$17,816.48
8. 1	LEX VOMITORIA 'NANA,' DWARF YAUPON HOLLY, COMPLETE IN PLACE	EA	68	\$18.06	\$1,228.08	\$17.30	\$1,176.40	\$22.26	\$1,513.68
	LIRIOPE MUSCARI 'BIG BLUE,' BIG BLUE LILYTURF, 1 GAL, COMPLETE IN PLACE	EA	525	\$5.95	\$3,123.75	\$8.65	\$4,541.25	\$8.48	\$4,452.00
	ANTANA MONTEVIDENSIS, PURPLE TRAILING LANTANA, 1 GAL, COMPLETE N PLACE	EA	712	\$6.69	\$4,763.28	\$9.73	\$6,927.76	\$9.54	\$6,792.48

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

HARDSCAPE AND LANDSCAPE TO SERVE FULSHEAR JUNCTION SECTION 1
FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 174
CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS
AUGUST 26, 2025
LJA ENGINEERING, INC.
A.HOLLIDAY
AUGUST 26, 2025

			1) STRICKSCAPES INC		2) D.L. MEACHAM, L.P.		3) WCI SEI	RVICES INC
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
11. LIGUSTRUM SINENSE 'SUNSHINE,' SUNSHINE LIGUSTRUM, 3 GAL, COMPLETE IN PLACE	EA	124	\$29.74	\$3,687.76	\$32.45	\$4,023.80	\$29.68	\$3,680.32
12. PENNISETUM ALOPECUROIDES 'LITTLE BUNNY', LITTLE BUNNY FOUNTAIN GRASS, 3 GAL, COMPLETE IN PLACE	EA	833	\$18.69	\$15,568.77	\$17.30	\$14,410.90	\$18.02	\$15,010.66
13. PODOCARPUS MACROPHYLLUS, YEW PODOCARPUS, 3 GAL, COMPLETE IN PLACE	EA	64	\$18.06	\$1,155.84	\$43.26	\$2,768.64	\$21.20	\$1,356.80
14. RUSSELIA EQUISETIFORMIS, FIRECRACKER PLANT, 3 GAL, COMPLETE IN PLACE	EA	100	\$19.12	\$1,912.00	\$22.71	\$2,271.00	\$24.38	\$2,438.00
15. CYNODON DACTYLON, BERMUDA GRASS HYDROMULCH, BETWEEN SIDEWALK EDGE AND BACK OF CURB AT UNION CHAPPEL ROAD, FIRST STREET AND FIFTH STREET, INCLUDE LEVELING SAND, SOIL PREPARATION, AND SOIL AMENDMENTS, COMPLETE IN PLACE	SF	40892	\$0.06	\$2,453.52	\$0.06	\$2,453.52	\$0.08	\$3,271.36
16. CYNODON DACTYLON, BERMUDA GRASS HYDROMULCH, IN RESERVES, INCLUDE LEVELING SAND, SOIL PREPARATION, AND SOIL AMENDMENTS, COMPLETE IN PLACE	SF	105018	\$0.06	\$6,301.08	\$0.06	\$6,301.08	\$0.08	\$8,401.44
17. CYNODON DACTYLON, BERMUDA GRASS SOLID SOD, INCLUDE LEVELING SAND, SOIL PREPARATION, AND SOIL AMENDMENTS, COMPLETE IN PLACE	SF	50362	\$0.68	\$34,246.16	\$0.62	\$31,224.44	\$0.08	\$4,028.96
18. PLANTING BED PREPARATION INCLUDING EXCAVATION, SCARIFICATION, SOIL MIX BACKFILL / TILL, AMENDMENTS, FERTILIZATION, COMPLETE IN PLACE	SF	9393	\$0.83	\$7,796.19	\$1.73	\$16,249.89	\$1.06	\$9,956.58
19. LANDSCAPE MAINTENANCE	МО	2	\$3,900.00	\$7,800.00	\$3,893.40	\$7,786.80	\$7,499.50	\$14,999.00
SUBTOTAL BASE BID LANDSCAPE ITEMS				\$167,522.57	_	\$177,314.68	_	\$158,694.40
ALTERNATE BID NO. 1 SIDEWALK ITEMS  1. 4 ½" THICK, 3000 P.S.I. CONCRETE PAVING WITH FINISH SHOWN ON PLANS INCLUDING FORMS, EXCAVATION, BACKFILL, REINFORCEMENT AND ALL APPURTENANCES, COMPLETE IN PLACE	S, SF	23630	\$5.58	\$131,855.40	\$4.87	\$115,078.10	\$5.02	\$118,622.60
SUBTOTAL ALTERNATE BID NO. 1 SIDEWALK ITEMS				\$131,855.40	-	\$115,078.10	_	\$118,622.60
ALTERNATE BID NO. 2 CLEARING ITEMS  1. REMOVAL OF EXISTING TREES AS INDICATED ON PLANS, INCLUDING STUM GRINDING 12" BELOW FINISH GRADE AS DIRECTED BY LANDSCAPE ARCHITECT, COMPLETE IN PLACE	P LS	1	\$992.16	\$992.16	\$12,653.55	\$12,653.55	\$5,600.00	\$5,600.00
SUBTOTAL ALTERNATE BID NO. 2 CLEARING ITEMS			-	\$992.16	<del>-</del>	\$12,653.55	_	\$5,600.00
ALTERNATE BID NO. 3 PLANTING ITEMS  1. TO BE USED IN LIEU OF LANDSCAPE ITEM #15, CYNODON DACTYLON / BERMUDA GRASS HYDROMULCH BETWEEN SIDEWALK EDGE AND BACK OF CURB AT UNION CHAPPEL ROAD, FIRST STREET AND FIFTH STREET, CYNODON DACTYLON / BERMUDA GRASS SOLID SOD, COMPLETE IN PLACE		40892	\$0.28	\$11,449.76	\$0.55	\$22,490.60	\$0.65	\$26,579.80
SUBTOTAL ALTERNATE BID NO. 3 PLANTING ITEMS			-	\$11,449.76	-	\$22,490.60	_	\$26,579.80

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

HARDSCAPE AND LANDSCAPE TO SERVE FULSHEAR JUNCTION SECTION 1 FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 174 CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS AUGUST 26, 2025

AUGUST 26, 2025 LJA ENGINEERING, INC. A.HOLLIDAY AUGUST 26, 2025 2457-25001 (9.2)

				1) STRICKSCAPES INC		2) D.L. MEACHAM, L.P.		3) WCI SERVICES INC	
NO.	TEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	GRAND SERIES BISCAYNE BY AQUAMASTER OR APPROVED EQUAL, INCLUDE LED LIGHT,	EA	2	\$44,238.44	\$88,476.88	\$39,157.23	\$78,314.46	\$40,551.18	\$81,102.36
FOUNDATIONS, INCLUDING V	VICE MOUNTING TO SERVE POND VIRING, TRANSFORMERS, CONDUIT, AND TIMER CONNECTIONS, INSTALL ERATIONAL	EA	2	\$17,041.41	\$34,082.82	\$13,978.39	\$27,956.78	\$16,800.00	\$33,600.00
SUBTOTAL ALTERNATE BID NO. 4 PON	D FOUNTAIN ITEMS				\$122,559.70		\$106,271.24	_	\$114,702.36
BID SUMMARY									
BASE BID MISCELLANEOUS ITEMS					\$22,177.00		\$46,997.11		\$93,910.81
BASE BID GRADING AND DRAINAGE ITE	EMS				\$48,025.85		\$58,437.36		\$127,602.36
BASE BID HARDSCAPE ITEMS					\$684,225.64		\$782,029.33		\$658,182.62
BASE BID IRRIGATION ITEMS					\$380,195.00		\$368,707.17		\$403,855.12
BASE BID LANDSCAPE ITEMS					\$167,522.57		\$177,314.68		\$158,694.40
TOTAL AMOUNT BASE BID					\$1,302,146.06		\$1,433,485.65		\$1,442,245.31
ALTERNATE BID NO. 1									
TOTAL AMOUNT BASE BID					\$1,302,146.06		\$1,433,485.65		\$1,442,245.31
SIDEWALK ITEMS					\$131,855.40		\$115,078.10		\$118,622.60
TOTAL ALTERNATE BID NO. 1 PLUS BA	SE BID				\$1,434,001.46		\$1,548,563.75		\$1,560,867.91
ALTERNATE BID NO. 2									
TOTAL AMOUNT BASE BID					\$1,302,146.06		\$1,433,485.65		\$1,442,245.31
CLEARING ITEMS					\$992.16		\$12,653.55		\$5,600.00
TOTAL ALTERNATE BID NO. 2 PLUS BA	SE BID				\$1,303,138.22		\$1,446,139.20		\$1,447,845.31
ALTERNATE BID NO. 3									
TOTAL AMOUNT BASE BID					\$1,302,146.06		\$1,433,485.65		\$1,442,245.31
DEDUCT LANDSCAPE ITEMS ITEM NO. 2	15				-\$2,453.52		-\$2,453.52		-\$3,271.36
PLANTING ITEMS					\$11,449.76		\$22,490.60		\$26,579.80
TOTAL ALTERNATE BID NO. 3 PLUS BA	SE BID				\$1,311,142.30		\$1,453,522.73		\$1,465,553.75

BID OPENING DATE: BID OPENING LOCATION: **TABULATION BY:** TABULATION DATE: LJA JOB NO.

HARDSCAPE AND LANDSCAPE TO SERVE FULSHEAR JUNCTION SECTION 1 FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 174 CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS AUGUST 26, 2025
LIA ENGINEERING, INC.
A.HOLLIDAY

AUGUST 26, 2025 2457-25001 (9.2)

				1) STRICKSCAPES INC		2) D.L. MEACHAM, L.P.		3) WCI S	ERVICES INC
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
			-				-		-
ALTERNATE BID NO.	4								
TOTAL AMOUNT BAS	SE BID				\$1,302,146.06		\$1,433,485.65		\$1,442,245.31
POND FOUNTAIN ITE	MS				\$122,559.70		\$106,271.24		\$114,702.36
TOTAL ALTERNATE B	ID NO. 4 PLUS BASE BID				\$1,424,705.76		\$1,539,756.89		\$1,556,947.67